

# County Distribution Detail Report through 10/03/2023

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	860	2,099	50	3,009	\$3,761.25	\$112.70	\$3,648.55	0.70	\$2,553.99
							Entity Tota	l:	\$2,553.99
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,553.99
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	2,888	11,330	504	14,722	\$18,402.50	\$386.48	\$18,016.02	0.70	\$12,611.21
							Entity Tota	l:	\$12,611.21
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$12,611.21
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	824	1,259	3	2,086	\$2,607.50	\$57.89	\$2,549.61	0.70	\$1,784.73
							Entity Tota	l:	\$1,784.73
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,784.73
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,505	4,270	85	5,860	\$7,325.00	\$148.93	\$7,176.07	0.70	\$5,023.25
							Entity Tota	l:	\$5,023.25
							Adjustmen	t:	\$0.00

Total Amount: \$5,023.25

## Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2023	0	0	0	0	\$0.00	\$0.50	\$-0.50	0.70	\$-0.35
8/2023	8,796	23,455	1,607	33,858	\$42,322.50	\$879.70	\$41,442.80	0.70	\$29,009.96
							Entity Tot Adjustme Total Amo	nt:	\$29,009.61 \$0.00 \$29,009.61
Brown									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2023	0	0	12	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
7/2023	0	0	84	84	\$105.00	\$0.00	\$105.00	0.70	\$73.50
8/2023	7,386	28,574	931	36,891	\$46,113.75	\$975.88	\$45,137.87	0.70	\$31,596.51
							Entity Tota Adjustmer Total Amo	nt:	\$31,680.51 \$0.00 \$31,680.51

#### Brule

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2023	0	0	0	0	\$0.00	\$1.00	\$-1.00	0.70	\$-0.70
8/2023	2,075	4,088	111	6,274	\$7,842.50	\$164.75	\$7,677.75	0.70	\$5,374.43
							Entity Tota	l:	\$5,373.73
							Adjustment	t:	\$0.00
							Total Amou	int:	\$5,373.73
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	523	487	1	1,011	\$1,263.75	\$25.39	\$1,238.36	0.70	\$866.85
							Entity Tota	l:	\$866.85
							Adjustment	t:	\$0.00

Total Amount: \$866.85

### Butte

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,926	7,146	192	9,264	\$11,580.00	\$245.06	\$11,334.94	0.70	\$7,934.46
							Entity Tota	l:	\$7,934.46
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,934.46

## Campbell

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	582	1,377	19	1,978	\$2,472.50	\$49.73	\$2,422.77	0.70	\$1,695.94
							Entity Tota	al:	\$1,695.94
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,695.94

## **Charles Mix**

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	2,191	5,819	17	8,027	\$10,033.75	\$203.46	\$9,830.29	0.70	\$6,881.20
							Entity Tota	I:	\$6,881.20
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$6,881.20

## City of Box Elder, Meade Co

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	22	3,107	123	3,252	\$4,065.00	\$82.11	\$3,982.89	0.70	\$2,788.02
							Entity Tota	l:	\$2,788.02
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,788.02
City of North Sioux (	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	498	3,219	85	3,802	\$4,752.50	\$113.41	\$4,639.09	0.70	\$3,247.36

							Entity Tota	al:	\$3,247.36
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$3,247.36
City of Pierre, Hugh	es Co.								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	2,804	11,930	303	15,037	\$18,796.25	\$391.12	\$18,405.13	0.70	\$12,883.59
							Entity Tota	al:	\$12,883.59
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,883.59
City of Sioux Falls, I	Lincoln (								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	3,694	29,889	3,582	37,165	\$46,456.25	\$969.84	\$45,486.41	0.70	\$31,840.49
8/2023	3,694	29,889		37,165	\$46,456.25	\$969.84	\$45,486.41 Entity Tota		\$31,840.49 <b>\$31,840.49</b>
8/2023	3,694	29,889		37,165	\$46,456.25	\$969.84		al:	
8/2023	3,694	29,889		37,165	\$46,456.25	\$969.84	Entity Tota	al: at:	\$31,840.49
8/2023 Clark	3,694	29,889		37,165	\$46,456.25	\$969.84	Entity Tota Adjustmer	al: at:	\$31,840.49 \$0.00
	3,694 Telecom Lines	29,889 Wireless Lines		37,165 Total Lines	\$46,456.25 Surcharge	\$969.84 Admin Fee	Entity Tota Adjustmer	al: at:	\$31,840.49 \$0.00
Clark			3,582 VOIP				Entity Tota Adjustmer Total Amo	ıl: ıt: unt: Entity	\$31,840.49 \$0.00 \$31,840.49

Total Amount: \$3,172.02

Adjustment:

\$0.00

Clay

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2023	0	0	0	0	\$0.00	\$4.50	\$-4.50	0.70	\$-3.15
8/2023	1,235	8,032	405	9,672	\$12,090.00	\$297.69	\$11,792.31	0.70	\$8,254.62
							Entity Tot	al:	\$8,251.47
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$8,251.47

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	5,582	21,304	957	27,843	\$34,803.75	\$749.56	\$34,054.19	0.70	\$23,837.93
							Entity Total	:	\$23,837.93
							Adjustment	:	\$0.00
							Total Amou	nt:	\$23,837.93
-									

### Corson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	828	1,044	397	2,269	\$2,836.25	\$59.08	\$2,777.17	0.70	\$1,944.02
							Entity Tota	d:	\$1,944.02
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$1,944.02

#### Custer

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2023	0	0	0	0	\$0.00	\$0.50	\$-0.50	0.70	\$-0.35
8/2023	2,853	6,751	80	9,684	\$12,105.00	\$272.41	\$11,832.59	0.70	\$8,282.81
							Entity Tota Adjustmer		\$8,282.46 \$0.00
							Total Amo	unt:	\$8,282.46

#### Davison

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2023	0	0	0	0	\$0.00	\$1.50	\$-1.50	0.70	\$-1.05
8/2023	3,784	15,286	606	19,676	\$24,595.00	\$515.52	\$24,079.48	0.70	\$16,855.64
							Entity Tota	ıl:	\$16,854.59
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$16,854.59
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,647	3,782	91	5,520	\$6,900.00	\$142.43	\$6,757.57	0.70	\$4,730.30

							Entity Tota	ıl:	\$4,730.30
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$4,730.30
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,318	3,245	107	4,670	\$5,837.50	\$122.46	\$5,715.04	0.70	\$4,000.53
							Entity Tota	ıl:	\$4,000.53
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$4,000.53
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2023	0	0	0	0	\$0.00	\$1.50	\$-1.50	0.70	\$-1.05
8/2023	1,001	2,278	7	3,286	\$4,107.50	\$85.32	\$4,022.18	0.70	\$2,815.53
							Entity Tota	d:	\$2,814.48
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$2,814.48
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,018	3,078	63	4,159	\$5,198.75	\$105.76	\$5,092.99	0.70	\$3,565.09
							Entity Tota	d:	\$3,565.09
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$3,565.09
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Reporting Peric	od Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
8/2023	2,512	5,152	23	7,687	\$9,608.75	\$198.79	\$9,409.96	0.70	\$6,586.97	

Entity Total: \$6,586.97

Adjustment: \$0.00

Total Amount: \$6,586.97

### Faulk

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	621	1,611	22	2,254	\$2,817.50	\$57.14	\$2,760.36	0.70	\$1,932.25
							Entity Tota	l:	\$1,932.25
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,932.25

## Grant

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2023	0	0	0	0	\$0.00	\$0.50	\$-0.50	0.70	\$-0.35
8/2023	1,523	5,701	262	7,486	\$9,357.50	\$222.27	\$9,135.23	0.70	\$6,394.66
							Entity Tota	al:	\$6,394.31
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$6,394.31

## Gregory

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,389	3,623	10	5,022	\$6,277.50	\$145.47	\$6,132.03	0.70	\$4,292.42
							Entity Tota	l:	\$4,292.42
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,292.42

### Haakon

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	867	1,384	3	2,254	\$2,817.50	\$57.17	\$2,760.33	0.70	\$1,932.23
							Entity Tota	l:	\$1,932.23
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,932.23
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,221	4,280	126	5,627	\$7,033.75	\$145.61	\$6,888.14	0.70	\$4,821.70

							Entity Tota	l:	\$4,821.70
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,821.70
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	892	2,703	50	3,645	\$4,556.25	\$99.81	\$4,456.44	0.70	\$3,119.51
							Entity Tota	ıl:	\$3,119.51
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$3,119.51
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	680	3,219	63	3,962	\$4,952.50	\$111.63	\$4,840.87	0.70	\$3,388.61
							Entity Tota	ıl:	\$3,388.61
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,388.61
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	606	871	1	1,478	\$1,847.50	\$47.43	\$1,800.07	0.70	\$1,260.05
							Entity Tota	ıl:	\$1,260.05
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,260.05
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2023	0	0	0	0	\$0.00	\$0.50	\$-0.50	0.70	\$-0.35
8/2023	491	3,350	309	4,150	\$5,187.50	\$142.00	\$5,045.50	0.70	\$3,531.85
							Entity Tota	ıl:	\$3,531.50
							Adjustmen	ıt:	\$0.00

Total Amount: \$3,531.50

## Hutchinson

Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
2,344	5,458	79	7,881	\$9,851.25	\$200.01	\$9,651.24	0.70	\$6,755.87
						Entity Tota	l:	\$6,755.87
						Adjustmen	t:	\$0.00
						Total Amo	unt:	\$6,755.87
			Lines	Lines	Lines	Lines	Lines 2,344 5,458 79 7,881 \$9,851.25 \$200.01 \$9,651.24 Entity Tota Adjustmen	Lines Percent

#### Hyde

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	560	1,096	13	1,669	\$2,086.25	\$42.65	\$2,043.60	0.70	\$1,430.52
							Entity Tota	1:	\$1,430.52
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,430.52

#### Jackson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	548	910	38	1,496	\$1,870.00	\$39.46	\$1,830.54	0.70	\$1,281.38
							Entity Tota	d:	\$1,281.38
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$1,281.38

#### Jerauld

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	698	1,432	26	2,156	\$2,695.00	\$54.18	\$2,640.82	0.70	\$1,848.57
							Entity Tota	al:	\$1,848.57
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,848.57
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	429	743	4	1,176	\$1,470.00	\$30.64	\$1,439.36	0.70	\$1,007.55

							Entity Tot		\$1,007.55
							Adjustme		\$0.00
Kinaahumi							Total Amo	ount:	\$1,007.55
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2023	0	0	53	53	\$66.25	\$0.00	\$66.25	0.70	\$46.38
8/2023	708	4,124	330	5,162	\$6,452.50	\$146.46	\$6,306.04	0.70	\$4,414.23
							Entity Tota	al:	\$4,460.61
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$4,460.61
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2023	0	0	0	0	\$0.00	\$0.50	\$-0.50	0.70	\$-0.35
8/2023	2,101	9,491	392	11,984	\$14,980.00	\$333.30	\$14,646.70	0.70	\$10,252.69
							Entity Tot	al:	\$10,252.34
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$10,252.34
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2023	0	0	0	0	\$0.00	\$2.50	\$-2.50	0.70	\$-1.75
8/2023	5,782	19,397	472	25,651	\$32,063.75	\$678.91	\$31,384.84	0.70	\$21,969.39
							Entity Tota	al:	\$21,967.64
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$21,967.64
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Percent

0.70

\$27,736.27

\$27,736.27

\$0.00

Lines

2,372

32,451

\$40,563.75

\$940.51

\$39,623.24

Entity Total:

Adjustment:

27,138

8/2023

2,941

Total Amount: \$27,736.27

### Lyman

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	994	1,865	380	3,239	\$4,048.75	\$87.60	\$3,961.15	0.70	\$2,772.81
							Entity Total	:	\$2,772.81
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,772.81
Marshall									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,268	3,184	76	4,528	\$5,660.00	\$127.10	\$5,532.90	0.70	\$3,873.03
							Entity Tota	al:	\$3,873.03
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,873.03

## McCook

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,544	4,519	36	6,099	\$7,623.75	\$158.20	\$7,465.55	0.70	\$5,225.89
							Entity Tota	I:	\$5,225.89
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$5,225.89

#### McPherson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	815	1,638	5	2,458	\$3,072.50	\$73.81	\$2,998.69	0.70	\$2,099.08
							Entity Tota	l:	\$2,099.08
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,099.08
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	2,624	20,531	321	23,476	\$29,345.00	\$628.80	\$28,716.20	0.70	\$20,101.34

Mellette							Entity Tota Adjustmen Total Amo	t:	\$20,101.34 \$0.00 \$20,101.34
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	514	758	3	1,275	\$1,593.75	\$32.69	\$1,561.06	0.70	\$1,092.74
							Entity Tota	ıl:	\$1,092.74
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,092.74
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	846	1,781	25	2,652	\$3,315.00	\$68.54	\$3,246.46	0.70	\$2,272.52
							Entity Tota	d:	\$2,272.52
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$2,272.52
Minnehaha									

#### Minnehaha

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2023	0	0	12	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
7/2023	0	0	0	0	\$0.00	\$10.50	\$-10.50	0.70	\$-7.35
8/2023	31,709	166,106	8,371	206,186	\$257,732.50	\$5,649.19	\$252,083.31	0.70	\$176,458.32
							Entity Tot	al:	\$176,461.47
							Adjustme	nt:	\$0.00

### Moody

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
7/2023	0	0	0	0	\$0.00	\$0.50	\$-0.50	0.70	\$-0.35
8/2023	848	5,027	181	6,056	\$7,570.00	\$175.33	\$7,394.67	0.70	\$5,176.27

\$176,461.47

**Total Amount:** 

Adjustment: \$0.00

Total Amount: \$5,175.92

### Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2023	0	0	12	12	\$15.00	\$0.00	\$15.00	0.70	\$10.50
7/2023	0	0	0	0	\$0.00	\$0.50	\$-0.50	0.70	\$-0.35
8/2023	18,987	91,041	3,391	113,419	\$141,773.75	\$3,018.41	\$138,755.34	0.70	\$97,128.74
							Entity Tota	al:	\$97,138.89
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$97,138.89
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,550	2,379	5	3,934	\$4,917.50	\$109.35	\$4,808.15	0.70	\$3,365.71
							Entity Tota	al:	\$3,365.71
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,365.71
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	935	1,955	9	2,899	\$3,623.75	\$72.97	\$3,550.78	0.70	\$2,485.55
							Entity Tota	al:	\$2,485.55
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,485.55
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	2,850	5,449	28	8,327	\$10,408.75	\$233.81	\$10,174.94	0.70	\$7,122.46
							Entity Tota	al:	\$7,122.46
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,122.46

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	676	1,869	22	2,567	\$3,208.75	\$64.92	\$3,143.83	0.70	\$2,200.68
							Entity Tota	l:	\$2,200.68
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,200.68
Control									

#### Spink

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,525	4,779	115	6,419	\$8,023.75	\$165.22	\$7,858.53	0.70	\$5,500.97
							Entity Tota	al:	\$5,500.97
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,500.97

## Stanley

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	586	2,382	75	3,043	\$3,803.75	\$80.49	\$3,723.26	0.70	\$2,606.28
							Entity Tota	al:	\$2,606.28
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,606.28

## Sully

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	525	1,273	4	1,802	\$2,252.50	\$45.09	\$2,207.41	0.70	\$1,545.19
							Entity Tota	l:	\$1,545.19
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,545.19

## Todd

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	0	126	1	127	\$158.75	\$12.38	\$146.37	0.70	\$102.46

Tripp							Adjustmen Total Amou		\$0.00 \$102.46
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,901	4,172	37	6,110	\$7,637.50	\$156.58	\$7,480.92	0.70	\$5,236.64
							Entity Total:		\$5,236.64
							Adjustmen		\$0.00
Turner							Total Amou	unt:	\$5,236.64

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,526	6,787	131	8,444	\$10,555.00	\$216.39	\$10,338.61	0.70	\$7,237.03
							Entity Tot	al:	\$7,237.03
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,237.03

### Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
6/2023	0	0	3	3	\$3.75	\$0.00	\$3.75	0.70	\$2.63
8/2023	1,979	11,976	532	14,487	\$18,108.75	\$442.48	\$17,666.27	0.70	\$12,366.39
							Entity Tota Adjustmer		\$12,369.02 \$0.00
							Total Amo		\$12,369.02
Walworth									•

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	1,463	3,799	475	5,737	\$7,171.25	\$149.32	\$7,021.93	0.70	\$4,915.35
							Entity Tota	al:	\$4,915.35
							Adjustmer	nt:	\$0.00

**Total Amount:** 

\$4,915.35

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2023	3,893	18,305	450	22,648	\$28,310.00	\$610.64	\$27,699.36	0.70	\$19,389.55
							Entity Tota	l:	\$19,389.55
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$19,389.55
TOTALS	163,343	668,838	29,840	862,021	\$1,077,526.25	\$23,356.72	\$1,054,169.53		